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2 F, =0
TDc0s45+TCcos45—TCcos4O =0
T, = 0.0834TC ______ (1)
Fig. P2.53 and P2.54 Z FY -0

T,sin45+T sin45-T sin40-22.5 =0 (2)

WnuAI T, 2710 (1) 191 T, = 182.6 kN
unuen T, Tu (1) g T, =15.22 kN
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YBINI P —— AB = 20.5 i3
2 F, =0
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P - T(cosO) =0
P =50(4.5/20.5)

P=111b. = 48.9 N

%) tHa X=15 ¥

Fig. P2.63 and P2.64 AB = 25 #2
AB =/X%+203 2 F, =0
sin O = 20/AB P - T(cosO) = 0
P = 15/2
cos O = X/AB 50(15/25)
P=301b. =133.44 N
T=W
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2 F, =0
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PcosOl = 2Psin20 : Ol = 46.8
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160 kg
Fig. P2.65 and P2.66
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N\ @b 2 F,=0 n30ind
& Psin46.8+2Pc0s20-160=0

P=61.3 kg = 602N
2 F =0 sl ag

160 kg -Psin46.8+2Pcos20-160=0
Fig. P2.65 and P2.66

P=139.13 kg = 1369N
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Fig. P2.99, P2.100, P2.101, and P2.102
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Sz AB =/4.22+5.62
AB =7 m
AC=74m, AD = 6.9 m
AB= -4.2i-5.6j
A, =AB/AB =(-4.2i-5.6j)/7

(=200 (0,0,-3.3) A, =-0.6i-0.8]
NIUDIUALINY
x A, =0.32i-0.76j+0.57k
z c A, =-0.86j-0.51k

(2.4,0,4.2) T_=T,,(A,,)=259(-0.6i-0.8])
T,=T )=T,.(0.32i-0.76j+0.57k)
T, =T, (A, )=T, (-0.86j-0.51k)

P =Pj
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T,.=259(-0.6i-0.8j)
T.=T,.(0.32i-0.76j+0.57k)
T_=T,, (-0.86j-0.51k)

P = Pj
2 F=0 P-T,-T, -T, =0
. Pj-155.4i-207.2j
+0.32T, i-0.76T, j+0.57T, k

-0.86T, j-0.51T, k = O

C : , : .
AN Lj,k -155.4i +0.32T, .

+Pj -207.2j -0.76T, j -0.86T, j
+0.57T, k -0.51T, k = O
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[-155.4+0.32T, . ] i
+[P -207.2 -0.76T, . -0.86T, 1]
+[0.57T, . -0.51T, 1k = O

AD NN i AaLsITINluLnL X = 0
NN j ABUSITINLULAR Y = O

ﬂi{l:&l k ﬁauswm‘lmmu Z =0

[-155.4+0.32T, .1 = 0 ---(1)
[P -207.2 -0.76T, , -0.86T, 1= 0---(2)

[0.57T,, -0.51T, 1k = 0---(3)

LAENDIT
P=1043 N
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Fig. P2.125

AB= 525 X=200 Y=155
7= 460

R, eannuunu Y 1o ZFY=O
R, oannuuny 2 1A ZFZ=O
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CosO, =X/AB=0.381
CosO, =Y/AB=0.295
CosO, =7/AB=0.876

RA Z FY=O
_ _ P-T(cos OY)=O
T=1156 N
Fig. .125
7= 460 \ 2 F =0

Q-T(cos OZ)=O
Q=1012.7
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